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A & 0l & AF 2 E A A
20198 & =04k LBHSIH sAIZOHE
FAN: sASHL L
HE: sosE ZM U
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= 25,000
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oNglls 23 & SolsSs 16,000
Olglls 2= 3L M
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O3MzE 2| 12,000
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OAad X2/J|+ 6,000
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2 sASHE
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= 1,391
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hag 93
= 28
= 65
OALEE 3,368,200 *3.23% 109
rag 55
& 16
iy 38
O&INRY 109, 000& *3.68% 5
hag 2
= 1
= 2
OnNsed 3,368,200 *1.5% 51
rag 25
< 8
iy 18
OMTHEE 3,368,200& *2.6% 88
= 44
= 13
= 31
201 Bt 17,193 0 17,193
hag 8,597
& 2,579
= 6,017
01 At 22l bl 17,193 0 17,193
OJtZ202t4I0l 249 17,193
OANEESES & 7Y 7,093
hag 3,547
= 1,064
= 2,482
O2Z A2 540,000& x153] 8,100
rag 4,050
& 1,215
iy 2,835
O &EAS U Xz 1,000, 000& *23] 2,000
hag 1,000
= 300
= 700
202 04 d| 1,000 0 1,000
rag 500
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= T50
= 350
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O=W=& 0ol 1,000
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= 350
206 M = Hl 16,000 0 16,000
Fag 8,000
= 2,400
= 5,600
01 =4l 16,000 0 16,000
OJNZ2AHBE ZXHMH & 7Y
100, 000& *20= *x83| 16,000
g 8,000
= 2,400
= 5,600
301 et A= 2,000 0 2,000
Fag 1,000
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09 HAIAHI EAZ 2,000 0 2,000
O8&AS MEH S 20,000& x50 *x23| 2,000
g 1,000
& 300
= 700
XY 565,856 612,210 N46,354
= 2,500
= 563,356
NeEsg ASEINY L 2SS Odsg2 2 153,344 163,853 A 10,509
A(MEXKLXEIALS)
101 e1214| 53,869 46,878 6,991
04 JI2tHIZ22XNEES 53,869 46,878 6,991
o2ttstiiSllisga ¥ S NZEAZ(HR) 27,906
oorgel 71,800 1 210 15,078
OFEXAX =E 71,8008 1 55 3,949
Oosez2: =& 71,800& 1 1,555 5,924
O=201Hd=3 24,950,500 x4 . 5% 1,123
OHLES 24,950,500 x3. 12% 779
O&INRY 779,000 *3.69% 29
ongEeEs 24,950,500 *1.5% 375
ONMTHEE 24,950,500 *2.6% 649
oRtsiiSllisga ¥ NZIAZ(EE) 25,963
oorge 66,800 x1H x210 14,028
OFXHAX =E 66,800& 1 552! 3,674
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SN SABHSD
HE: sosE ZM U
Sl HESARY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 M= Hl 33,200 18,000 15,200
01 M= 4l 33,200 18,000 15,200
Olli=dEE 29 M2 8,000
Ol0lH=dE& UM 50,0003 *105+83] 4,000
otlg gt 2223 M +
20,0003 205 +103] 4,000
OxXm=sY s4 10,000
OXrsg 54 MHz=7g
50,000& x20& *53] 5,000
Ol &, =25 2
20,0002 255 *102] 5,000
OtstIsAE 2E3sd 22 W 15,200
OREAE(dsYE) 15,000& *180m 2,700
O&LESHE 70,000 *100m 7,000
Ouszddbel 20,0002 11574 2,300
oL edels M2y 2,500& *400m 1,000
OSMZH =4 MHz>7e
270 1,100,000& x2& 2,200
401 AIEHI L 20 51,800 0 51,800
01 A& HI 51,800 0 51,800
OBSYSAL BUSH T4
51,800,000 =14 51,800
SIE =4 ¥ 2L (ML XelAd) 110,730 40,074 70,656
101 124 dl 6,680 6,024 656
4 JI2ZtHZ22XREEs 6,680 6,024 656
OATH LAIAISY 182 6,680
22 ()N AN
66,8003 x10H 5 3,340
OCIE-II22 BX AlTjoe
66,8003 x 10 5 3,340
206 = Hl 34,050 34,050 0
01 =8l 34,050 34,050 0
OZ2ctHlle 28 25+7< 34,050
O=sZ(8g) 87 #dl 350& 70,000+ 24,500
OO EZ(cHEtetdlel 28) sl
70,000& *x100= 7,000
odlg ¢ g+ 10,0003 *2& 45X 23| 1,800
Os%7Y 15,0003 x5& 5 23| 750
401 Al HIZ 201 8] 70,000 0 70,000
01 A& HI 70,000 0 70,000
ONSIESAHSANEHLZE =2 HH|
70,000,000& » 14! 70,000
ESsHE EE & 84 5,000 5,800 A 800




2N
X ZH -
L= B

el

SAENL Y
SAsE MY Y3t
RSy

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
T 2,500
= 2,500
301 dEtEAZ 5,000 5,800 A 800
T 2,500
= 2,500
12 J|EH2 & 2 5,000 5,800 800
OEZSSUEMSI AS2HNES 5,000
T 2,500
= 2,500
W4 ASANEE 29 43,406 54,471 A 11,065
101 @121l 27,906 23,971 3,935
04 JI2ZtH 22 XNEE % 27,906 23,971 3,935
Ol ASAIEE 29 AB2A(HER) 27,906
oogy 71,800&*1H %210 15,078
OFXHAX ¢ 71,800& 1 55 3,949
Oose2e ¢ 71,800& 12 x1.5%55 5,924
O=01Hz 24,950,500 *4 . 5% 1,123
OA&dEE 24,950,500& *3.12% 779
O&I R 779,000*3.69% 29
(@mE=1=4=-! 24,950,500& *1.5% 375
OMEE 24,950,500 *2.6% 649
201 LEt29| 1,000 2,500 A 1,500
01 AFR2t2l bl 1,000 2,500 A 1,500
Ol ASANEE 2% A2E & F¢
100,000& x 105 1,000
206 M = Hl 14,500 19,000 A4 ,500
01 X2 Hl 14,500 19,000 A4,500
Ol ASAIETHEY THZ bl 9,000
OoHlg F2eHl & 10,000& x4 = 50 & 2,000
O=sY F2dl s 20,000&*10&5*10= 2,000
g5l ?H S 5,000& x2& *200 = 2,000
ONZTHE MASTHE 227
60,000& x5& *10 3,000
O WASANEEZ 29 M= Gl 5,500
O&EZ HH ME+xY
AE Y O0IE 160,000 *250H 4,000
OsXH(ZHAIAE) 22
50,000& * 105 *34] 1,500
2UHHE ASANEE 29 153,376 115,012 38,364
101 @121l 55,242 46,878 8,364
04 JI2ZtH 22 XNEE % 55,242 46,878 8,364
ONEE2 ASAEE 2H(ER) 29,279
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X ZH -
L= B

el

SAENL Y
SAsE MY Y3t
RSy

SA - BB B () - MM - BES Ol &t o il 2
osy 71,8003 x 12 %210 15,078
OFXEX = 71,8003 x 1«55 3,949
Os5g2® =+ 71,8003 « 1 *1.5+55¢ 5,924
O=gg=z 24,950,500& 4.5% 2,496
OHL=EE 24,950,500& *3. 12% 779
OIS 779,000& %3.69% 29
OneE:sd 24,950,500& x1.5% 375
OuTHEH 24,950,500 *2.6% 649
OANXES ASANEEL 2H(ES) 25,963
osy 66,800 x1H »210 14,028
OFXeAxt =¢ 66,8003 » 1«55 3,674
Osg2® =% 66,800 x 1 1.5+55¢ 5,511
O=8d= 23,213,000& *4.5% 1,045
OHL=EE 23,213,000& *3. 12% 725
oI 725,000& %3.69% 27
OCneE:sd 23,213,000& x1.5% 349
OtHEH 23,213,000& *2.6% 604
201 LEr2 Y| 58,134 58,134 0
01 At 2teltl 4,500 4,500 0
OANXE ASANEE 2Y 2258 7
150,000& * 102 1,500
OsttEe Z2&8A & I
2,000& = 1,5000H 3,000
02 =24l 53,634 53,634 0
O&NAZES ASANEE 2 53,634
O24amFHl 1,300& 2,000 *2&+*4E 20,800
O=2487I23 26,834
—JIEge3 360,750& *1.1037x12& 4,778
—ANER23 79.3&%21,000kwh*1.1037+12& 22,056
ONM&EHHI®X 500,000& x123] 6,000
206 M= Hl 16,000 10,000 6,000
01 24l 16,000 10,000 6,000
CRNE=Z &SAIEE M=l 10,000
OBX(ZI) YLl S 50,000& 505 *23 5,000
Otlg, s< FHl S 5,000
OHINE=SE =4 6,000
OFZ Hug ¥as+7¢ 50,000& *803l 4,000
OMEsd =4 st 4d8 stz 2
20,000& x1002] 2,000
401 AIEHI L 20 15,000 0 15,000
01 A& HI 15,000 0 15,000
OHINESsE =4 15,000, 000& *1 15,000




0 O OF

AE N Dt
YsE W L3
LY

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
405 XHoHF SHI 9,000 0 9,000
01 Mt =S FSHI 9,000 0 9,000

OHIANS &L IIsHES JI772Y
1,500,000+x63 9,000
e sHI|=8d ASAE 143,280 132,231 11,049
dsgARLE 2 56,256 59,321 AN 3,065
101 @121l 27,906 23,971 3,935
04 J|2ZtHZ22NSE 27,906 23,971 3,935
ORI AEAUZ EA (M) 27,906
oorg 71,800& x1¥ %210 15,078
OFXAX ¢ 71,800& 1 55 3,949
Os2=2=2 ¢ 71,8003 *1Hx1.5+x55 5,924
O=01Hz 24,951,000& *4 .5% 1,123
OH2LEH 24,951,000& *3.12% 779
OIS 779,000& *3.69% 29
(@E=1-4=-! 24,951,000 *1.5% 375
OMHEE 24,951,000& *2.6% 649
201 LEt2 Y| 11,000 11,000 0
01 A2 22| bl 10,000 10,000 0
OdRLE 29 10,000
OEZEHM & 100,000& *504! 5,000
OdREDAN M= 10,000& x2& * 100 2,000
OsIIHL Xt 500,000& *2CH *23] 2,000
OUIEIZRY 22E 7
200,000& * 141 x53] 1,000
02 33249l 1,000 1,000 0
OHRELE 2% HHl RAX 500,000& *23| 1,000
206 M =8l 4,000 11,000 27,000
01 & bl 4,000 11,000 AT7,000
O¢RELHY Mz *¢ 4,000
O IREH Mg +¢ 500,000& 2& 23] 2,000
Oos=2 % X #¢ 50,000& *20& 23] 2,000
207 A IR b 4,350 4,350 0
03 Al & 2| 4,350 4,350 0
OHRELE ADH S5 4,350
ogdis ¢M 227 150, 000& *3Zx= *x33] 1,350
OELI|EtXN H272Y 10,000& *300 % 3,000
401 Al HI L 2 THHI 9,000 9,000 0
01 Al& Bl 9,000 9,000 0
OHFRLE A 9,000,000& * 14 9,000




SN sABNED

X ZH: =
S =

i
x

X

):‘I:l
o
40
T
=
e
1
>
09
(e
0x
Jo

H dAIEZ 29 57,924 51,810 6,114
101 1Al 51,924 45,810 6,114
04 JI2ZtHZ22 S E+ 51,024 45,810 6,114

Obl MAE 2% 2 (ES) 51,924
(OXUE 3 66,8003 x2H 210 28,056
OFXext =€ 66,8003 x2H x552 7,348
Oxg2! =¢ 66,8008 *2H x552 *150% 11,022
O=8dg= 46,426,000% «4.5% 2,090
OUILEE 46,426,000 *3. 12% 1,449
O 1,449,000& *3.69% 54
OunEEEE 46,426,000 *1.5% 697
OMMEE = 46,426,000 *2.6% 1,208
201 €24l 4,000 4,000 0
01 Ar22t2l bl 4,000 4,000 0
OFANE 2E 22F 72 200,000 *4Z 53| 4,000
206 M= Hl 2,000 0 2,000
01 M= dl 2,000 0 2,000
O&AIZE 28 XM & SN 8 2,000
Ot +¢ 100,000& »2& *53] 1,000
osXt #¢ 50,0003 205 1,000

g3sg A7y 29 29,100 21,100 8,000
201 LEt2E | 18,100 10,100 8,000
01 At 2teltl 7,500 7,500 0

od|7e2d 7,500
oagd HES+E 250,000& »2& *32 1,500
OgRENAM 10,000& 100 1,000
O M= gHI 50,000& 105 500
odg= 50,0003 x5 25 500
Ozd==x2 50,000& #2032l 1,000
Ostslis ¥ J1JIns &Iyl
300,000& *102 3,000
02 B32gHl 10,600 2,600 8,000
O%Fa FHRX ¥ HIISXa 10,600
O&Hl® Xl 1,000,000& <103l 10,000
OHII2Hel 20,000& *303] 600
206 M= Hl 1,000 1,000 0
01 M= dl 1,000 1,000 0
oK|+E SN ¥ SE 72¥
10, 000& x20& *52] 1,000
207 & 51 OH £ Hl 10,000 10,000 0
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0l &t o
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HJ

1,050

206 M= Hl

Mo A

4,000
2,000

600
1,400

4,000

01 = dl

Os&E02¢ s Mz 7¢
1,

000,000& *42] »1JH &

A

4,000

4,000
2,000

600
1,400

4,000

301 €EtE &=

A A

3,000
1,500

450
1,050

3,000

09 & Ar&

75,0003 »40 * 10 &

Moo

3,000

3,000
1,500

450
1,050

3,000

402 2I2tXt=01&

Mo

40,000
20,000

6,000
14,000

40,000

02 QA 2AMAEE(0IATHE)

OsSE0Z2 Y SXNME 2FAY

40,000,000 14 &

A

40,000

40,000
20,000

6,000
14,000

40,000

OF
1]
EJ
o
Ol
02
0
0x
>
0

M

25,000

12,500
12,500

25,000

307 21201 &

EUNE

10,000

5,000
5,000

10,000

02 212t

x
248 & 3o N

10,000,000& =100 A

M

10,000

10,000

5,000
5,000

10,000

402 2I2tXt=01&

EUNL

15,000

7,500
7,500

15,000

02 2I2HXH= At

o
B
°
o
=
o

4 15,000,000 * 10K 2~

15,000
15,000
7,500

15,000
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7,500

EUNE
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3,000
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10,000

307 21201 &

EUNL

5,000

1,500
3,500

5,000

02 PIZH &
OsXHY 2XE7 L L=SFY X

5,000,000 14 &

UL

5,000

5,000

1,500
3,500

5,000

402 RI2FX=201 M

UL

5,000

1,500
3,500

5,000

02 QX =2AMAEE(0IATHE)

Osxg SFMe ANBot =S4

5,000,000 14 &

M

5,000

5,000

1,500
3,500

5,000

SURE

5,000

2,500
2,500

5,000

201 £Eet23E |

UL

2,000

1,000
1,000

5,000

23,000

01 At
250,000& *82

URLY

2,000

2,000

1,000
1,000

5,000

23,000

206 M= Hl

EUNLY

,000

,500
,500

o oW

3,000

01 M= dl
500,000& x6&

UL

,000

,000

,500
,500

—_ a4 W W

3,000

EURE

3,000

600
2,400

3,000

402 QI2tXt=01 &

M

3,000

600
2,400
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